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Frames and machines

The general solution method:
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! '_‘Nf'“ Example 6)
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Example 7) 10kN
The compound beam shown is pin-connected at _ /s
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Example 8)
The frame supports a 50kg cylinder. Determine

the horizontal and vertical components of

reaction at A and the force at C
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A 500 kg elevator car is being hoisted by a motor using a pulley
system. If the car travels at a constant speed, determine the force
developed in the cables. Neglect the cable and pulley masses.
We’ll label the tension in the ,
rightmost cableTi, and tension in the
leftmost cable T2. Which is an equation
for equilibrium of pulley C?/r

A. Ti#2Ti=0 2
B. 2T1+T>2=0
C. Th—T2=0

k ‘ZTA’TZ;O
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A 500 kg elevator car is being hoisted by a motor using a pulley
system. If the car travels at a constant speed, determine the force
developed in the cables. Neglect the cable and pulley masses.
We’ll label the tension in the ,
rightmost cableTi, and tension in the
leftmost cable T2. Which is an equation
for equilibrium of the car?

A. 3Ti+ 2T2 + 500(9.81) N =0
3T) — 4T, + 5009.81) N = 0
3T; + 2T2 — 500(9.81) N = 0
. 3Ti— 2T2 — 500(9.81) N = 0
None of the above T Y ,‘Ti
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Determine the magnitude of the

gripping forces produced when the

force P is applied as shown.
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The pin at B is attached to member ABC and can slide freely along
the slot cut in the fixed plate. Neglecting the effect of friction,

determine the couple M required to hold the system in
equilibrium when 8 = 30°.
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